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Read the following instructions carehully before you begin to answer the questions. This Booklet contains questions in English as well 25 in Hindi Language.
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Booklet and ensure that it contains all the pages (1-24) and see that no | 5.
page is missing or repeated, If you find any defect in this Bonkiet,
you must get it replaced immedistely.

6. Youwill be supplied the Answer-Sheet separately by the Inigilator.

You must cormphete and gade the details of Name, Roll Numiber, Ticket | 6-

o wmrther aied Test Fi i ber in e Answer-Sheet carefully. You L wmjrm sy, ey e, B ity e o Wy

st also put your sighature and Left-Hand thumb impression onthe | - fill s ¥ 2o sver of 35 o508 3 el - v e Pnfe vt 9 o9
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awarded R0 mark. (V.H./Cerebral Palsy candidates will have to
ensure that these details will be filled in by the scribe. However, all
V.M. Cerebral Palsy candidates must put their Left-Hand thamb
impression at the space provided in the Answer-Sheet. Those
V.. Cercbral Palsy candidaies who can sign should also put their
signatares in addition to thamb impression.)

7. Answers must be shown by completely blackening the corresponding
cincle on Side-11 of the Answer-Sheet against the relevant question
narriber by Black,/Blue Ball-Potnt Pen only, Answers which are not
shown by Black/ Blue Ball-Polnt Pen will not be awarded any mark.
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" PART -1/ 91 - 1 '
*;'+ GENERAL INTELEIGENCE /8= et

Directions : In question numbers 5to 13, find the odd virord
nimber letters/ number pair from the given alternatives,

ﬁﬁm:mﬁmsﬂlaﬁﬁ,mmfﬂﬁﬁiﬁﬁfﬂm

If 246 =8, 624 =0 and 327 =6 then 423 =7

af% 246=8, 624 =0 37 =67 423="

I A HE T A
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®we B8 }g«( ©) 10
C TR I‘J.-l'n |
. : X i 5) (A fkuz-r LI‘:B
R the given interchanges are ma in signs LR sy
numbers, which one of the following equation is (C) FoMY ,—ﬁa:r:u
D true ? (Signs: + and +, Number fand 3) /ﬁr’/_
) 6. (A) 12:9 13:117
Ifz fai o dena § fHide s=afdfm fEn s B \ J"I‘
§ 3 frefrfia # A Fw wAE T EN? (5. 10120 Bhdg 12
(fag : + 3 +, 58 : 6 3R 5) -
¢ B g cip T (A) Helicopter (B} Aeroplane
k = 54 e=
s () 2F536=64F @ 5 ‘ﬁ+a£ 5.8/ c, _(OSimarine (D) Rgeket
4O W+5+6=86 B+6+-5=96 (A) TRl (B)
15 4F "m Ly L £
% () TAgEl (D) Tz %
3. In a certain code MISCHIEF is written as ;
NKVGMOLN, then how is RELIEVED written in ‘ :
D * aremser TRl e R
ft F1E T MISCHIEF %1 NKVGMOLN ferat = % (A) 3245 (B) 6578
¥ @ RELIEVED #1 58 iz o fermn =mom ? () 7689 Mﬁ;
A) SFMJFWFE SGOMIVED
s g 2 10. (A) DKRW (B) CNPT (O KNXY _(OyFBIL
(© SEOPVLD > ﬁ'fammu_
11. Mm (B) MTS
4, In certain code PEN is coded as 123, PENCIL as ﬁ {C) BSNL ) RIM
123456, CABLE as 48962, then 6283123456 me
C = . g (&) = ) WA
At fm
firft e B PEN #1123 FigiFa e, PENCIL STkl a6 SRR
F1 123456 3 CABLE %1 48962, 1 6283123456 ;
fram#E §7 ; 4> Wmom K g PN D) SU
(A) LEANPNCLI (B) LANPENCIL 7 ? \)}/ﬁ;mfﬂ?'__‘ Muﬂ;m
AT TEANPENCIL () LABNPENCIL A O Gear/fT_ (D) Engine/$
SPACE FOR ROUGH WORK / T% &1 & fora 97
]
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14.

D

Onarranging Atomic Age, Metallic Age, Stone Age,
Alloy Age ina meaningful order (starting fromthe
earliest) which would appear in the 3™ position ?

(A} Stone Age 1 (B) Metallic Age &
(C) Atomic Age Alloy Age

T 7, e T, VR () 70 S Ay
T F (WY WAY A IF w4 gu) af wmedw we |

T W, A A FE TR g g
(A) e T (B) wferE 1
(Q W (D) g

15.  Arrange the following words as per their order in

e >,
frefafas =i =1 375 s % %0 4 fad)
(1) Cinnabar (2) Cinder
(3) Cinema (4) Cinnamon
(5) Cinchona

(A) (2).13). (5) (4), (1)

_omHean

Arrange the words in ascending order of their
magnitude, 7

™ = ® T ufem F amn W e wa
ferd

(B) (4).(1).(3).12). B}
@) 5). (). (). (4). B)

(2) Kilo/fEen
{4) Giga/"m

(1) Mega/5m
(3) Tera/20

1), @, 6) @)
© (@)1, (4. (3)

® 0).6.0.0
© @.6@.06.0

Directions : In question numbers 17 and 18, one statement
is given, followed by two assumptions, Tand I1. You have
to consider the statement to be true, even if they secm to be
at variance from commonly known facts. You have to
decide whichof the given assumptions, if any, follows from
the given statement.

fardwr ; wya dam 17 i 1s A, wE wuw f2m wn § Fame
F 2 qargEE 1 s e o ¥ s aeen 2 T
T T ¥ A 5% WA 79 a9 2 v v wm i
g Fom e 8 o fau o geigma § 4 59-9 fives
F9 # T ZaT w1 e o G B o €t w2 i

17. Statement: The impact of economic sanctions on
ﬁ economy, that is already so weak
could be devastating,

Economic sanctions :'.mp;xcl: only
aweak economy.

Assumptionl :

Assumption II: The impact of economic sanctions

varies from economy o economy.
{A) MNeither Inor ITare implicit
(B} BothIandIlare implicit
{0 Only Lis implicit
(D) Only I is implicit

FUF: U T WS T A #@ S0 SaE
#, snfeds wnfert =1 v fasdwandt @
HEA B

i1 : snfide misEl Faa e adsEenE
1 wuifea wet ¥

gqatqars 11 ;. nfds gl & 9vE fy=-fu=
sl W - fie g &

Mm&mqn
(B 1R 136 w8
Q) Fam1EdE
(D) = ITE E

SPACE FOR ROUGH WORK / % &M % foaa =
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“There is very heavy traffic on the road
between 5 - 7 pm. We need to have a
flyover in this area”. A planning
engineer said in a meeting,

Statement :

Heavy traffic should be

regulated.

Assumption I :

Assumplion II: Previous planning engineers did
not do much about heavy traffic.

{A) Only Assumption ©is implicit.

(B) Omly Assumption II is implicit.

{Q) MNeither T nor IT are implicit.

(D) BothIand IT are implicit.

HOA UM 59 7T F A9 gEw W wad afis

e ¥ - 7 A O 45 A T
VPR L
wAHT 1 - W A ) T s i)

AT 1 Ve % wnti St 3w aeem
*E{Lﬁ‘iﬁﬁ?ﬂt

(@ Fra@ d s an
) 13 R

Which one set of letters when sequentially placed at
the gaps in the given letter series shall complete it ?

Ferl R W W s W w3 A

T e S W R H 7
'faaﬂ!:-?_—ab_‘[ab}b
(A) u?bﬂb {B) bbaa

(D) abbb

20.

e

2 p
ull\'li e

If two days back it was 90 November 2014 and it
was a Sunday, then tomorrow will be ?

(A} 12'h November 2014, Thursday
‘ﬁ?ﬁp}iuwmwr 2014, Wednesday

(©) 12" November 2014, Tuesday

(D) 12 November 2014, Wednesday

7fg 3 o7 T o T 2014 9 o s faEm

fam m A A =ven %= == Em 7

(A) 12 7=, 2014, TEfmaw

(B) 13 98THT, 2014, G997

({©) 12 Fa=, 2014, HTEER

(D) 12797, 2014, F9aR

Prema has a son named Anand. Rajiv is Prema’s
brother. Neha has a daughter named Rashmi. Neha
is Rajiv's sister. What is Anand’s relationship to
Rashmi ?

(A) Uncle
(B} Brother-in-law

Cousin
(D} Mephew
¥ 1 0F 74 & forme W Ame §1 v, i
it ¥ FmE i m w s o E S, w6
TEA ¥ = =1 1w A ey T

(A) HTHI/=TE 3 &

v
1 e A ti.;_—_:ﬂ =3y L
(© dFymR Ry pt
©) W

Directions : In question numbers 22 to 30, select the related
word /letters/ number from the given alternatives.

Frdvr : v wEm 22 A 30 9 o M fawedl § @ afem

e/ Aerl/HeEm = g
22 QPOR:XWVY::LKIM: 2 _
B (A) DEGFA B CBAD
(@ FHGIY (D) SRTU
23, 7:42::8: 7
C W @7 o4 ©so

SPACE FOR ROUGH WORK / 7% %14 & 79 5mg
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24. TPatient: Fowler Bed ::
(A Necklace : Adomment
by : Cradle
{Q Trophy : Achievement
(LY Certificate; Merit
i« et W -
(A) A T
(B) == W&
(O T . IvEfe
(D) W= 9 - G
25. School:Teacher::Bank: 7
(' {A) Banker (B) Manager
___,{Q“‘Chshier () Peon
faomers | sveE qw 2
(A) T B) T (wETE)
(O e (Ifem) (D) Tom
26.  Exercise:Gym::Eating: ?
D {A) Food ~ (B) Dieting
{Q) Fitness AP TFestaurant
A o Emm 2
(A) M () =@t
Q) e D) ==
27. VWWXY:ERTU::FFHI:_ ?
A —CCF (B) UUVZ m
(O SSUV (D} XXYB t“jr;.
28 49:Eicpd: 7 ..,ﬁ-
3 TA) 634 512
Q) 486 {D} 514
29. JKPO:LMNM::_2 :PQJL
.B (A} LENG
() NOKL (D) KOLN
| T 5T
B A B:6d ,ﬂr’ﬁf 143
0 3:81 o) 624

Directions : Inquestion numbers 31 to 35, a seriesis given,
with one term missing. Choose the correct alternative from
the given ones that will complete the series.
Fréer: vR HEm 31935 H vF AEn e €, famd v
T2 qa 1 feu m fawedi 4 4 9% @@ fawes g
a:ljmaf‘rq;nﬁl

"|.'|-I-J_
31. 1"5'9 15, 23,733,735, ?

7o e 0 T2

B (A) 60 ) 81

==

32.  OTE, PUF, QVG, RWH,

?
© X _@rex

1D wsy @ ™
33. 16,61,25,52,36,63,49,__7
D wx ® s © 72 __@rvi
i
W 2IgA0 T2
C Wi ® o7 s
| 35.  AFKPU, BGLQV,CHMRW, 2 _
| A e Dinsx (B) KLMNO
© UVWXY ) VQLGB

Directions : In question numbers 36 and 37, from the given
alternative words, select the word which cannot be formed
using the letters of the given word :

fordw : wea W 36 3 37 7% Frefartan fased 4 4 a8

¥, ST w1 o o v el o i s T a .

B

36.  METAPHYSICS

D @ Hears (B) PESTS
© TEAMS ___{DFSEEMS

37.  RAILWAYSTATION
(A) STORY (B) STAIR__
© NOTARY . oy OsIImS

38. Sitara walked 45 metres in Morth-West from her
c uncle’s house. There she met her friend and they

walked 45 metres in South - West direction. Then
they walked 45 metres in South-East direction and
turned to uncle’s house., Now in which directon

they are going ?
(A) South-West (B} Morth-East
th-East (I} Morth-West

T 197 =T % W A 45 i Ia-viran w5 i
Tt 1 e I TRt O wie ferd § o A 2
et 45 e 2fero-ufram =t fam F st 1
o 45 it Zfam-ud »1 fem e € i A F
T S e E1 i A we fam @ #

() =fm-gfvam (B) IW-H
(©Q wfm-gd (D) F-ufyam

SPACE FOR ROUGH WORK / 7% =rd & o g
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39, Qwalked 20 m towards west, took a left turnand | 43,
walked 20 m. He then took a right tum and walked
n 20 rn and again took a right turn and walked 20 m. B
How far is Q now from the starting point 7

63, 77 87
21 ' | 2
- 55 B

O 20 siex o = siv w, A 9 A 20

e e e = et 20 e v o iR (A) 21 /usyz{ (©Q 20 ) 23
8 way 2 20 W w1 QI fag B il R T R
el & T A0 WO F A?
44.  From the given answer figures, select the one in
Wﬂ- ® S0m/ H. B whichth&ﬁuesﬁunfgumlgutﬂddenkmbeddtd.
) 80m/™. 120 m/ .
fi o 1 e el A 7R T anvpha v
we agta ffm &
Directions : Inquestion numbers 40 to 43, aseries is given,
with one term missing, Choose the correct alternative from Question figmjrwqal-{q;fh
the given omnes that will complete the series.
Frdor : W T 40 H 43 # v oA e B, o 0 e
7 ' fire T Ferl A 1 g W e e S AR
FIFLI
Answer figures /T ATHTal

AWASAY N

4 (A) B (D)
45. Which answer figure will complete the pattern in

10
(A) 22 ® 320 (O 14 /pér
'c- the question figure ?

A

B V‘r 0 3 A Y e R R A 2
o\ /2 —
\o/ Question figure/W¥T HTHT

(A) 49 }s;ég © 42 (D) 35 2

= o
() f"‘*g’ Ya-

5 i
=

Answer fwmw

< | [o]=]8]m]

© 3 ) 2 (A) (B) (D)

SPACE FOR ROUGH WORK / T% &4 & fod =
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Which one of the following diagrams best depicts
the relationship among Flant, Animal, Deer.

ﬁﬂ!ﬁfﬂﬂﬁﬁmmmﬂ'ﬁﬁ!ﬂ ‘Iﬂ, mﬁ%a’i‘a
Has B S &

& OO
009 »(©

Identify the answer figure from which the pieces
given in the question figure have been cut.

7 o - P aand foref & woa-firsil of fau o s e
™

=

ssChelp.in

A piece of paper is folded and punched as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.
R uE el e e ST w0 A
B 9 WiEH F A 9% fea I anta S e
Tm?

Question figures /WY AT Tl

N N
L
(D)

A word is represented by only one setof numbers as
given in any one of the altemmatives. The sets of
numbers given in the alternatives are re nted
by two classes of alphabets as in two matrices given
below. The columns and rows of Matrix [ are
numbered from 0 to 4 and that of Matrix 11 are
numbered from 3 to 9. A letter from these matrices
can be re ted first by its row and next by its

Question fgame; WY SRR AR co be represented by 56,65 etc, Sisilazly
= ;,-a-u have to identify the set for the word 'DRAW'
[7 e FEE TS HEn-wE gel gu e E, dE

ﬂsfﬁﬁﬁfﬁﬂrf#ﬁrﬁﬁﬁmwtl el #

e e Th e
=" m | W 1 =

Answer figures /I ATt R FR W 08 47 AT § R e 1w

. SR 0, 77wl | UF A F R THT! v AR

' e T T TE BRI 29 9 Al £ 39 F

| e, ‘At w0 03, 12 sfy g Twim = W § A

o 10 7 awiDs ‘N’ 1 56, 65 1% ZHI Z0N T FFA | TH TEH

e A ;maﬁmﬁﬁqﬁ*nmw%mwﬂmm

I

48.  Find water image of : MATRIX / 3oz - 1 MATRIX ! sregg - 11
D oj1]2)3]4 516|789
e - Wiafara F@ F11 o|D|O|BlAall]|[5|W|N|R|M|L
1|{olBlAajT|D]|e[N|RIMILIW
ZIB|A|LID)O FIRIMIL[WIN

%‘57 a|lall|D|O|B|[8IM|L|W | N|R

s|li(plolela]l [o]L][wiN|[R|M

T 8 &5 24 (A) 41,66, 23,55 } (B) 32,75, 44, 76, A

(4) (B) (€ P (© 23,5730, 68 APr14,89,12,78
SPACE FOR ROUGH WORK / 7% &4 & foa
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PART - 11
ENGLISH LANGUAGE

Directions : Inquestion numbers 51 to 54, four alternatives
are given for the Idiom', Phrase underlined. Choose the
alternative which best expresses the meaning of the
Idiom, Phrase and mark it in the Answer Sheet.

51. My brother puts by a little money every month.
D {A) loses (B) givesaway
<) spfrn_dﬁcnrel'l.ﬂly’[]ﬂ"havﬁ

52. Tocallitaday
D {A) the day was marvellous
_ABy decide to finish working

{C) givethe day a name
(D) putoff work for another day

I was in two minds whether to buy a new television
OF @ ew computer.

to be undecided
(B) totake two decisions
(C) tolose one’s mind
(I tobe firm

Ramah was n:mglgl;ﬂ_['l_igg_whﬂn she heard that she
had won the lottery.

A

(A) veryhappy  (B) shocked =~
_{CrTonfused (D) frustrated <

Directions : In question numbers 55 to 58, a part of the
sentence is underlined. Below are given alternatives to the
underlined part at (A), (B), (C) which may improve the
senbence. Choose the correct alternative. In case no
improvement is needed your answer is (D). Mark your
answer in the Answer Sheet.

55.  The medicine must be take by you,
B (4) takes BT taken

(O taking (D) MNoimprovement
56.  The Sutlej has changed its path.
B (A) journey . (B) course

() line Tuo improvement
57. How many country are there in Europe ?

(A) countries are their in
(B} country are there on

_{&-Tountries are there in

(D) Noimprovement

&

AC-2015/ Page9

58. Westayed in Mumbai jp five days.

(A) with ,_[ﬂ"ﬁ

(D) at D) Moimprovement

Directions : In question numbers 59 to 62, sentences given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question. Choose
the correct alternative out of the four and indicate it by
blackening the appropriate circle [ @ ] in the Answer Sheet.

59,  This area suffers from

D @ drosghs B Traughts
() drafis drought

60. Heagreed ______ my business proposal.

C Wr ®Bon _©@F {0 at
6l. Allofusaredevoted _______ oneanother.
C wo o, B (D) for
B2 iﬁﬂwwa}'mm_emo?
P orTn @) Wheo

{© When . ([ What »

Directions : In question numbers 63 and 64, a sentence has
been given in Active/Passive Voice. Out of the four
alternatives suggested, select the one which best expresses
the same sentence in Passive/ Active Voice and mark your
answer in the Answer Sheet.

63. People say that he is a spy.

{A) Ithas been said by the people that he is a spy. >
(By-Ti s said that he is a spy.

{0 Heisaspy was saldT}: people.

(D} A spy that he is said the people.

64.  Hashe completed the assignments ?
ave the assignments been completed by him ?
(B) Have the assignments completed by him 7
(O Has the assignments been completed by him ?
(D) Has the assignments being completed by him ?

Downloaded from  sschelp.in
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Directions : In question numbers 65 and 66, a sentence has
been given in Direct/ Indirect. Out of the four alternatives
suggested, select the one which best expresses the same
sentence in Indirect/ Direct and mark your answer in the
Answer Sheet.

65. Ashok said to me, “Your parents are waiting for
you i
Ashok told me that my parents were waiting
for me.
4 (B) Ashoktold to me that my parents were waiting
foir e,
» (O) Ashok told me that his parents were waiting
for him.
(D) Ashok told me that his parents are waiting for
himn,

66. Theteachersaid,”The Earth moves round the Sun.”
teacher said that the Earth moves round
the Sun.
(B) The teacher asked that the Earth moves round
the Sun.
{C) The teacher told that the Earth moved round
the Sun,
(D) The teacher told that the Earth has moved
round the Sun.

Directions : In question numbers 67 to 70, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the
Answer Sheet.

67. Genuine
(A) Local 8 Authentic
{0 Cever (D) Concern
BB,  Accuracy
(A) Agreement _,.{BT"P:\e:mm
) Attachment M) Cleverness
69. Consor
(&) Partmer (B) Convery_
Q) Guide AP Protect
70, Pevenue
(A) Return (B) Disaster
{C) Regain _AD-ncome

Directions : In question numbers 71 to 74, out of the four
alternatives, choose the one which can be substituted for
the given words/ sentences and indicate it by blackening
the appropriate circle [ @ ] in the Answer Sheet.

71. A person who steals the writing of others.

(A) popular (B plagiarist
{0) nepotism plagiarism

AC-2015/Pagel0
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Animals living in water.

T
‘ __{Ay-mquatic {(B) amphibian

(C) gregarious () mammals
73.  One whocompiles a dictionary.
‘, {A) lexical B tesicography
(C) lexicographer (D) lexicon

74,  Someone not fit to be chosen.
& — A Theligible (B) uneligible
(0 imeligible (D) non-eligible

Directions : In question numbers 75 to 78, four words are
given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark

your answer in the Answer Sheet.
(1 8
L

75. BITENCE (B) Preference
B © Prefference (D) Preferennce
76. (A) Riverberation (B) Revirberation
€. __iGrReverberation (D) Revarberation
77. (A) Advertice (B) Adverties
vertise () Advretise
78. (A) Remarkebel B Remarkable
B (© Remarkabel (D) Remarkeble

Directions : In question numbers 79 to 82, the 1% and the
last part of sentences are numbered 1 and 6. The rest of the
sentence is split into four parts and named P, Q. R and 5.
These four parts are not given in their proper order. Read
the sentence and find out which of the four combinations
i correct, Then find the correct answer and indicate it in
the Answer Sheet.

i In recent years

primarily because purchasing

has grown more intense

price competition in most industries
managers now exert much influence
over suppliers.

—(A) RQPS

© SPRQ
Right from
have been used as a measure of time
prehistoric times
and have formed the basis of
the phases of the moon
. theearliest calendar.
(A) PRSQ
{C) SRQP

s mmO ™

(B) SRPQ
(D) RSPQ

2

mo o=

o

PR
(D) QRSP

S)

SSChelp.in



G

Downloaded from

81. 1. Without water
P. andconsequently
Q. the oxygen contentin the atmosphere
R. which carry out photosynthesis and release
OXYEEN
5 there would be no animals or plants
h,  would g0 dm'. n.
AP SEOR () PROS
(Q SRPQ (©) SPRQ
82. ' 1. Theinternetis
a P. aworldwide network
Q.  thatshould not be
R. regulated or censored
S byanyonecountry
6. howsoever strong the temptation.

RS
© PRS,

(B) PRSQ o ° 4
(D) PSQR 0

Directions : In question numbers 83 to 86, some parts of
the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the circle
| @ Jcorresponding to the appropriate letter (A), (B}, (C). If
a sentence is free from error, blacken the circle
comesponding to (D) in the Answer Sheet.

83.  Lwill have / boththe blue / or the black pen./
B () (B) S
MNoerror
(D)
Mx_mhaiazr_,ugthe:mm b
n..hﬂjmnﬂtﬂﬁfatt_l‘!ﬂ_mf b
<y (L8]
85. Elﬁ:IIED.BLDJ.ﬂIl.QLE:mﬂ_‘U
B 15 { digital messages 1"&
A © C
Noerror
(D) p‘
86. Wﬁhﬂuﬂnﬁhﬂ%ﬁﬂb’
n this government ./ Noerror A

(© ®) :
A

Directions : In question numbers 87 to 90, choose the word
opposite in meaning to the given word and mark it in the

Answer Sheet,

87. Grieve

B ® Mo A5 Rejoice A
{0 Sadness (D} Agony

AC-2015/Pagell

Downloaded from

SSChelp.in
88. Flawless
AMEM\.'&:- {B) Seconds
Q) Sick (D) Deficient
89. Obscure
(&) Vague (B} Enigma
{O) Distinguish @y Distinct
0. Enduring
B (A) Unwavering # (B) Transient
ransitory _ (D) Abiding A

Directions : In question numbers 91 to 100, in the following
passages some of the words have been left oul. Read the
passages carefully and choose the correct answer to each
guestion out of the four alternative and fill in the blanks.

Ifyvou %91 _ tobe free from all physical aches and pains,
and enjoy perfect physical harmony, then put your mind
inorderand _92 _ your thoughts. Think joyful thoughts;
think loving thoughts; Let the 93 of goodwill

94 through your veins, and you will need no other
medicine. __95__ your jealousies, your suspicions, your
worries, your hatred, your selfish indulgences, and you
will put away your indigestion, your sickness, your

96 and _97 . Ifyouwill _98 clinging to these

99 and demoralizing habits of minds, then do not
complain when your body is _100__ sickness.

91. (A) would R ABrwant_
(O will (D) can
{A) co-ordinate (B} harmonize
P regulate i@y regularize,
93. (A) sweetness (B) generosity
(@ potion —Bylisir
94. (A) course ABTun
{0 race (18)] ga&ler
95. s Throw off (B) discard
ﬁ-ﬂst away (D) ignore
96, W‘F;zﬁ'-ausmsj_, (B) worries
(C) happiness (D) confidence
97. Ay despair_ (B) paining
© joy (D) mercy
98. fAyindulgein_ = (B) careto
(C) persisting () continue to
99, (A) unhealthy (B) good
Q) worse __.-EET"EnmI_;.:
100. (AltrdUpwith  (B) lyingwith
(Q  laid low with (D) affectedto

©,

SSChelp.in
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PART - III

J/ WTT - 100

QUANTITATIVE APTITUDE / H&mr sfusfa

101.  If the angle of elevation of the sun changes from 45°
C to 607, then the length of the shadow of a pillar
decreases by 10 m. The height of the pillar is :

afe ¥ % I M 457 A aee 607 B T EL A
T F1 B F wAe 10 W W@ IR

wart fra &2
(A) 53 + 1) m/ =0,

(B) 15(v3 + 1) m/™, iy o
oy e
_"J:Q"‘Sl_i_:; u:-j-} m_‘,."'lfl ¥ Ve Sy {
O) 53 - 3) m/H SeNT Tt

The area of a circle whose radius is the diagonal of

asquare whose area is 4 is : " @?
o 4 arawe A

L'WE.

UH g9 F1 SE%A 7 6 famat At
[ wimmmst
(A) 4= (B) 6= M D) 16w
Liy@ ™ !
D 103. If 45in®0—1=0 and angle @ is less than 90°, The
hy'y value of cos? + tan®f is (Take 0° <8 <90°)
2 A 4sine-1=0 R Fme, 90° A wW £ A
o tanZe T AT F AW (WFI0 <0 < 90°)
=
13 11 12
DXL OE @5 0§ o
G 4pt 2
104. A train passes two bridges of lengths 500 m and

250 m in 100 seconds and 60 seconds respectively.
The length of the train is ;

T TETE 500 Wi, #lR 250 . 74 @ @i % wowm
100 FHE 3R 60 FdE F R F A ¥ TowE

e o 1
105. If 7 = 2,645, then the value of ﬁ up to three
c' places of decimal is : h

TR 7 = 2646 %, 0 TR ¥ o = ".'*;fg
1 U FEm ? gE
(A) 0.185 (B) 0187 2FL-E~

.
f’mi gu:-']l:.L.q{[E f8s B

106. A man bought some eggs of which 10% are rotten,
He gives 80% of the remainder to his neighbours.

s Now he is left out with 36 eggs. How many eggs he

bought ?

UF HISH A F9 &2 @i fod 4 10% w0 9w

A 9 80% E TS F 2 2RI HA 39F U 36 7

a9 9 ¥ Tad fEaT HE wihE g e

100 B0 (© 72" ()40

E is the mid-point of the median AD of AABC, BEis
jeined and produced to meet AC at F. F divides AC
in the ratio:

E, AABC ¥ W AD 1 0 fig §1 ACH F Y
, » fuE % fow BE #1 faame @z o &) F fem
AT ACH favfag s 7

(@Hﬁ’ B 1:3 (Q 3:2

108. A single discount equivalent to the series of
@ discounts 20%, 10% and 5% is equal to ;

20%, 10% #R 5% Ft 92 Haen F gugen vEa
frasammE?

() 30% (B 307% /{Q’ﬁ:&%

The sum of two numbers is 37 and the difference of
their squares is 185, then the difference of the two
numbers js: *

107.

A

F

o) 2:3

ks

) 32%

w7
g A e @ A4m 37 # o T @i s s g @
sy (B 250 m/. A W #1 s A 3
{Q) 120 m/T (D) 152 m/Ht. (A) 4 3 ™ 10
SPACE FOR ROUGH WORK / T& %11 & fidt o
vkl '.-'Eﬂf
—_— "‘F.ﬂ s
o L I
AC-2015/Pagel2 3:‘;; i deoar . K o @
4 — e 3 3
M 1590 4 3 ~ 1256 452 s

-
| 3
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5,'*;‘”?‘
>
The value of
1 3 5 997N,
[2“ E]Z_ EIE— F] ,[2 = ﬁ]i&:
1 3 5 97
[1__ 1_:13 }-} ......... [1 Wg]ﬁ!ﬂﬂ
T E?
5 1
® 355 /@/5’32'
—
1001 101
© 3% Wi

If x4 y+2z=6 and xy+ yz + zx=10, then the value
of 4P+ 28 =3nyzis: e ab

qfg x+y+z=6_ #T xy+yz+zx=10 &, at
D Tt hyzﬂﬂﬂﬂﬂlﬂ"l’i? @%}

© 40 __@Dr3
exryazy & (Ve-19)
The ratio of circumference and diameter of a circle is

(A) 48 (B) 42

22 7. 1§ the circumference be 1% m, then the radius

" of the circleis :

o 79 = fifs ol s w o 2207 B TR
trﬁfﬁl-;-ﬂr.ﬂr.ﬁtqa#tfﬂ;mwggﬂ?

1
(A s m/ . ’_/Gaqf'f;n;ﬁ,

{©) 1m/ L D) %mﬁﬂ.

The radius of base and curved surface area of a right
cylinder is ‘r’ units and 4=rh square units
respectively. The height of the cylinder is:

w o4 F9A F amn faen o 3w aae dEwa
W *r G At dnrh T 76 &, A e A1 S
FE?

(A) h units/ 3 Msr@z

() #hunits/qH= (D) %unitﬁﬂf‘ﬁ

-j'?’

114,

¥

115.

D

116.

117.

e y

x+1 a -3 - 13 then the value of

If S =

x—=1

1
=

@ —=—

In AABC, the external bisectors of the angles £Band
£C meet at the point O, If ZA =70, Ihenthen'neasu.re

of £BOC is: qo (P

Mﬁcﬁ,a’mzaamzctmﬂfgmpﬁgm
fom §1 3R A =707 A BOC T W19 T EW?

0% pr®

A milkman mixed the water with milk to gain 25%
by selling the mixture at cost price. The ratio of water
and milk is ;

@A) 7 (B) 60°

' e fadeen 3 FII R W gM A9 25% W1
wtﬁqquﬁmﬂﬁgﬂt mﬂahggan
s fean &2

(A) 4:5 (B 1:5 {D}Eli

s

If bananas are bought at the rate of 4 for a rupee,
how many must be sold for a rupee so as to gain

1
33— 7
3‘.’&.

2 7 TR H 4 T A F R A T

Fra ¥R AR W TE By IEMA?
f 3 }f 2

@3 i o:2

(A) 2

b = Arocie

AC-2015/Pagel3
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e
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riki 3
=

SPACE FOR ROUGH WORK / 7% &4 & faa s

2R ¥ e }l":“"%’
T % @
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o 8 N [ - _'_'.!-
o e Ly Il "fm—-
1O "f."'t}"'l- . @ -1,.1-’!}‘.-""-'
= '}:-}-rq‘% Py Xy Ty
118. If0" <8 < 90" and cosech = cot™8 then the value of the | 123. A hemi-spherical bowl has 3.5 con radius. Itis tobe
expression cosec?d — 2cosecd + cot? is equal to: c painted inside as well as outside, The costeof
W = o e *ﬁa painting it at the rate of ¥ 5 per 10 sq. cm will b8 :
07 =g <90° cosecl= cot=f ¥, AT TEA Ei S ;
1y ik : a3 -t frm3sda e
Ry casec’d — 2eosec™® + cote T WA fFEF Tt #m ? H'Eﬁ o 'EFT:.'l'I'-!il-TI 31—"‘—jl ?'ﬁ&
[ A A A mamE rsaf0E g0 snw
4 ﬁ{ﬂ;‘?ﬂ B 13 3 D) 2 THE! TG %1 S0 90 A 7
e 2own 4 (A) 2100 [E}!l?i(m D) T77
311*3.' [fa?+a+1=0, then the value of a®+a% + 1 is: =
: 3 Tlfﬂa1+n+1=ﬂﬂ,ﬂl’|a5+a"+1ﬂmﬂiﬂ'ﬁfﬂ? 124. The exponential formof JJ2 % J3 :'5;IIIII
ajty o> : S R ‘_. == 5 ¥
1["-;,-.-.1. (A) 1 "0 a+1 D) a2 V2 x /3 1R T 6
L e - L
adl = =) ol @V (A) &t B &} M o 6

120. Six numbers are arranged in decreasing order. The
averageof the first five numbers is 30 and the average
of the last five numbers is 25, The differences of the
first and the last numbers is : g

T WEY Sttt wn H wrafem w1 o # 90 giw
sl #1 i 30§ ol it viw st 71 2

\w 5% vuw o s veneli w smam gy

W_ ® 5 © 30 (@ 20
ME4S 20 25 10 B

3.
121. The total surface area of a right circular cylinder
c with radius of the base ¥ cm and height 20 em, is -

St i 7 4.5, i S 20 95 7} v e

A

A F F He GAwE o g 2 “g:'a
&) T8 em2/iisit 2 o
(B) 1000 cm?/# 5.2

ﬁ'@mzfﬁ,tﬂ.z
D) 900 cm?/ .1t 2

122. The ratio of the length of a rod and its shadow is
h 1: /3 . The angle of elevation of the sun is :

A car goes 20 metres in a second. Find its speed Iin
km/hr.

UF FN UF A%E ¥ 20 927 9@t 31 zoE
fi6, 51,52 & nfi s =ifa ?,:-;

(B) 36 ©Q 20 D) 18

126. A rectangular carpet has an area of 120 m? and'a
B perimeter of 46 metre. The length of its diagonalis -

TF FEAER F9 F AR 120 9.2 i v
46 HIEL ¥ 1 Iw faevl w1 wa fea dnit 2

(A) 13 metre/ T _ﬂ)-ﬂ?ﬁﬂmfﬁm

(O Nmetre/T2T (D) 23 metre /51

127. fa*+b+c—ab—bc—ca=0,thena:b:cis:

A A% a2+ P+ c2-ab-be—ca=0% Fa:b:c®m
wm? :

Gy 25121

B 1:2:1
) 1:1:2

128,

C

An article is sold at a profit of 25%. If the selling
price is doubled, the profit will be :

i T 25% F Tw A= W B ot famt

= St i

TF B W Har 4 IHE T A9 13 E T 72 fam o A m e g2
T T T A b2 B (A) 50% ® 0% (w0 2
e me O® oo 0% (©) 200% i
SPACE FOR ROUGH WORK / T% &1 % fedl =g
; 15r % —pD (R
w4 L w3 *°
AC-2015/Pagel4 mh}"vy'
AY (LaY) . xN4yg & 519
=
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129. The distance between the centres of two circles of
A radii 6 cm and 3 cm is 15 cm.  The length of the
transverse commeon tangent to the circles is:

8. AL hmmﬂqﬁﬂ:ﬁﬁiﬂ;m@
15 9.1, #1995 DEfe St T09 o o
o &2

' O
M cm/H. O
J
(B) 76 com/H.HL. Bl
18 em/H.50. e
(&) 18em/ ok ¢
(0) 12 cm/H.HI. ! J *
et

. The sum of money which when given on compound
imterest at 18% per annum would fetch ¥ 960 more

when the interest is payvable half yearly than when
it was payable annually for 2 years is .

@ o f 7 18% Wi = = = LA
=TT B S 24 B T T 960 wfiE e, @
Ffif = 29 B9 W 2 Fd F e v e 2

n.:‘rr{.,d (A) ¥ 30,000 (B) T 40,000 31;_,”.
e
VY AHGT50,000 5® 260000 gan
\ o1 *
H___gf:l“s.' 13 48 3;;1* s

131. ABCD is a cyclic trapezium whose sides AD and
D BC are parallel to each other ; if ZABC=75", then
the measure of ZBCD is:

ABCD TF &3 wvena # frast yand AD s BC

uE T F A ¥ A 2ABC=75"%, @ LBCDH
o7 w4 wm?

(A) 95 © 105° 75

(B) 45°
The sum of bwo numbers is 75 and their difference is
25. The product of the two numbersis:

AdEmAimAM B AR TR AW B E @ A
HEEl 6 OS2

(m«r.r?,o (B 125 () 1000

™) 1350

133,

B

134.

135.

136,

~Downloaded from SSChelp.in

The amount on ¥ 25,000 in 2 years at annually

compound interest, if the rates for the successive

years be 4% and 5% per annum respectively is:
Love :

2 25,000 72 =it wFafs = w2 § f, afk

Fere Al 4 e o EE: 4% S 5% =i 9, @

o 2 71 S 2 A

(A} T 26,800 m Py 8%

(© T 28,500 ©) T 30,000 VE a0
.;'r‘

A, B and C can complete a work in 10, 12 and 15

days respectively. A left the work 5 days before the @
work was completed and B left 2daysafter A had iy
left. Number of days required to complete the whole e
work was: AR P 1

A, Bsi'ﬁcf‘m‘tmai'rm_m,,uafmaf:f&“
Eag:cohd Awﬂﬁﬁ?ﬂﬂmﬁg
fom B3 A S T I F 2 @ 97 FW 9
fam wwE wW O w0 % fow fee o =)
ST B 7 P—L ! @.?
i o [

2 —e
w65 ®7 © 6 M

20 litres of a mixture contains milk and water in the
ratio 3 1. Then the amount of milk to be added to
the mixture so as to have milk and water in the ratio
4:1is;

mﬁaﬁmﬂ’qr#ﬁmz I%aﬁwﬁrﬂh EC

fagm g0 =t wrn et i o e qu ol
1 IR 4: 1T ? -

o

g B
(A) 4 litres/ferex 5 litres, foaet
() 6 litres/ FFax (D) 7 litres,/ et

Out of 10 teachers of a school, one teacher retires
and in place of him a new teacher 25 years old joins.
As a result of it average age of the teachers reduces
by 3 years. Age of the retired teacher (in years} is:
v T ¥ 10 st § @ o o dtee @ T
o 3o T WO T 25 T fs g T
1 @m §1 wiomreEEy foas #51 s sy
3% F0 @ 9 &) Ay fous w0 o e
(il L 020 WS

Ay 60 (B 58 (O 56 /ﬁfﬁ’

)

2= q-}'-'l“l"'“
ﬁCEDIEI}Fage‘IE w‘:hg g TE |
29+ 91 ;Hf Agaat e
v

SPACE FOR ROUGH WORK ;mwﬁtﬁr&q_m
16:61 +9 + 14929

!wrl'-' o= ¥E
_ﬂ,.‘.ﬂ“uﬂ'l"l _3‘__ @
278
3 0 e (R b e
14750 v PRy
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137. State electricity board gives 15% discount on electric | 141. X can do a piece of work in 24 days. When he had

bills if it is paid before due date. One person gets waorked for 4 days, Y joined him, |f complete work
B ¥54 discount. The amount of actual bill was : B was finished in 16 days, ¥ can alone finish that

Paorel faret 1 g o o o 4w e | KN
mﬁ@ﬁgﬁtﬁﬁ1gﬁaﬂwj;_mw xﬁ;#rmaﬁmfmﬁznmmhmm
aqfﬁiﬁzg_mﬁﬁzfﬁ?ﬂt?ﬁﬂmﬁﬁhﬁﬁ 4 T = o wa v oft 3% e i A
Tf foerdt ot 2 15 = S R H H 16 53 9 50 8 e, Ay e Awm
(A) 2359 ml HE 1 e foa st w0 =

© ¥361 [0) ¥ 362 W) 27days/fA Bt Gays/fen

138 Ifx~ 1 =2, thenthevalueof ©* L (©) 42 days/fe ) 18 days/fe

x X F v Sip X
B 2 (' 2053

1 i |
e x - b 28 - = W W T 82 Directions: Study the Pie chart carefully and answer the

uestions 142-145.
@2 _@nm oun @i |9
- -, ﬁﬁmﬂnmmmﬁmmﬁmmmm
139, The marked price is 10% higher than the cost price. 142-145 71 I Zifam
L' A discount of 10% is given on the marked price. In

this kind of sale, the seller F Shidemota College / T % BT
(A) bﬂrﬁnulnﬁs,mgain (B) mains 1% Non Members, Members of football club only
(© loses 1% D) gains 2% R mre Fd Emﬁﬁ?*m
m i
aﬁﬁrqmmnﬁﬂmﬂmﬁmirﬂﬁﬁm .
—— Memibers of Members of
‘Hll}%ﬁ?'@_iﬂf El‘l?_ﬂ‘tl mm%ﬁﬁﬁﬂﬁm both club cricket club only
GRS CRoblic it [lerema ¥ ez o
(A) FEE Wl A T (@) 1% = 5, ks bW 5%,
- " 'H.II i‘“f’ o
W (D) 2% @ s -
142, Number of students who are members of both the
140. The angle of depression of a point situated at a c_ chubs s
distamend’?ﬂmﬁﬂmllmbﬁeufatuwerisﬁﬂ‘“. The . .

ﬁ height of the tower is - @mﬂ#mmﬁ_ﬁm%m?—
2% SR A 70 . 71 frerm il a9 ey B @60 @ 5%  Qer o sw
60° &1 2taT F1 dwré forei 2

703 m/H. 143.  Percentage of students who are not members of any
Fo P clubis:
7043 =
®) == m/h T I 1 Wi T S e e ¥ v
{Q 70m/Ti, L
. ©) 353 m/oH, (A) 8% B) 10% (© &% _’M

SPACE FOR ROUGH WORK / 1% =T & fordr sy :
@ A e b
AC-2015/Pagels | V& +.‘J_-:S.- W™ = L
S TR =t .iy.'.‘a _

5 N 4

¥
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144, Numberof students whoare members of cricket club
only ;

T 2 # A A W A e e e

¥
M B) 42 Q4 D) 35

145. Ratio of members of cricket club only and football
D clubonly is:

Faw s 74 2N Fae eaia s % weEl F)

HITS R

(A) 2:1 (B 1:2

) 3:1 _’_’(D;f'f: 3
Directions : Study the bar chart and answer question

numbers 146-150,

fordor ; an 9 = snvae w8 w9 A 146-150 I
it |

Income and Expenditure (in crore T in 2001 of five companies

wehERENEEERE

In 2001, the approximate percentage of profit/loss
of all the five companies taken together is equal to:

2001 ¥ wiel FufE = foer e fEa sfvm

w? " ﬂ-.ll'*
Wmﬁt,’mﬂ . ﬁ‘,
!11 s =
() 6.48% profit/ =M %
B
(©Q 4% loss/f 2 &
(D) 6.88% loss,/ T4

147. The companies Mand N together had a percentage
D of profit/loss of :
(A) 12% loss
(B) 10% loss
Q) 10% profit
oss and no profit
M it N il = faem fRee i
B?
(A) 12% ¥
® 10% ®f
(O 10% &4

) = = wf & 5w |
148. The company earning the maximum percentage of
D profit in the year 2001 is :

= 2001 § #Aferam wlavm = S99 T S

FR-H&?
g

By N 8 T

(A) M
@ For company R, if the expenditure had increased by
20% in the year 2001 from the year 2000 and the
‘,, company had earned profit of 10% in 2000, the
company’s income in 2000 was (in crore ) :
st R 3% =73 3 = 2001 % = 2000 71 g A 20%
\ 7% 5 3R 1 1 7 20007 10% T A ge A e
A % 2000 8 e I (FE T H) g A2
£5 e
2—"1A) 3575 ®) 37.25

D) 4167

150, [If the income of company J in 2001 was 10% more

C than 2000 and the company had eamed a profit of
20% in 2000, then its expenditure in 2000

{in crores ¥) was:

afe Fodt Q #i #2000 F 2000 # 10%

aifig g S FTH F1 2000 F 20% 1 g A A

2000 § = fea (FhE e ) 2w ?

SPACE FOR ROUGH WORK / 7% %14 & ol =g

AC-2015/Pagel?
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{A) 28.28 B) 29.09
_/__tg-raa:.'!f D) 34.34
o3 =
G Ay
s\ Vou
"&i\ (14 s’ @
o>
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PART - IV / 9T - IV
GENERAL AWARENESS / T SH&TH

151. Who invented the battery ? 156. ‘Madhubani’, a style of folk paintings is popular in
- (B) Faraday n which of the following states in India ?
(O Maxwell (0} Roentgen (4) Madhya Pradesh (B) Littar Pradesh
F= 71 anfaesn fema T 7 {O) West Bengal ﬁi)gihar
(A) A @ W wr fereren =1 wgae’ el v § frafafas §
152, The defici f vitarnin & T @) sl it
eficiency of vitamin A causes ? !
-D (A} beri-beri (B) rickets © I @) faEw
(Q pellagra (D) sightblindness 157. Indian Economy isa:
forafi A 1 &9 A FF-m I Fem 2 n__w'ﬁﬂi'edﬁmmmy
(A) F-aT @®) TEzm (B) Capitalist Economy
— i {0 Communist Economy
Q ©) (D} Independent Economy
153. People with Down's syndrome invariably affected AT S 46 87
c H}: Alzheimer's disea . i
5 5 o
() Meningitis (B) aiteel seeTEe
_{O}-Bfain haemorrhage () e R
(D) Huntington's disease (D) T=as Ad=Ee
e g g e wi = TR 158. To conserve coral reefs the Govt. of India declared
LLLE B o ccterobiitigENarie Park:
(A) FEATER M (A) Gulfof Kutch
(B) fe iy —Bi—takEhadweep Islands
(O Gulf of Mannar
Q m (D) Andaman Islands
() ¥z Im | i 1 Tz & He ¥ o e T et
154. The development process under Capitalism has # 3 ol aqdl v =g G 2
been described as “Creative Destruction” by (A) T #1 and
D arl Marx (B) Hansen
(@ 1.5.Mill (D) Schumpeter (B) TS SITEE
Yo ¥ siwia e whEm = CwE e ©Q TR F
w9 1 fra aftfa e €2 (D) SiEAT FaE
(A) e e B LSEE] 159, The phenomenon which causes mirageis:
O # A fum (D) TR (_, (A} Diffraction
(B) Polarisation
155. Which bank is limited to the needs of agriculture _{G~T56 internal reflection
L and rural finance ? (D) Interference
(A) S8 G = Tifire] TR A Y = e €2
__(0)-NABARD @) RBI ki 11 TR i TN B R
F-m F Ffa 78 T o F A 7w (A) fr
it &7 20 (B) W
M) R ERfE @ wEuEd (Q et Hiafes T
(Q () v frord § (D) =
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160, Which amendment of the constitution lowered the

>

voting age from 21 years to 18 years ?
{A) 60 Amendment (B} 61% Amendment
(O 634 Amendment (D) 64" Amendment

wfaum % fem ST 20 TeEE 1 &g 219 4,

wRET 18T F R ?
(A) 60 TS
() 63 o =y

61 9 A
(D) 649 I

161. Project Tiger was introduced in:

A

2 i g ad E = 2

(A) 1973 984 (O 1995 (D) 2001

162. The fastest, costlier and relatively small form of

(&

D

Al

(C) Cache (D) Disk
Ty feren wrA gR) =rafied gEE, W 3
I S HE B 7
(A) FTa EEE (B # A
Q &4 o) fee=m
163. Inlndia, Dugong (sea cow) is found in the bioreserve,
site of :
(A) Nokrek (B) Manas
(©) Sundarban f of Mannar
e 3 A 7 feds At dm d ol w2
(A) FHEE B) WEH
(© T (D) TR AT
164. Ezra Cup is associated with which sports 7
o (B) Hockeyn
(©) Football (D) Rowing
T FY F A e A 7
(A) el ®)
(©) Tl (D) e

B

storage managed by computer system hardware
is: = 3
ash Memory (B) Main memory

165. Which of the hllnwinwlﬁ is the oldest 7

{A) Khajuraho Ajanta Caves
(C) TajMahal (D) Qutab Minar
foiferfias & F1A-T0 wRE T T 7
(A) I (B) e TEIL

(O W TER D) FFEAHW -
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166,

167,

168.

B

169,

P

Whio advecated Mazism in Germany 7

olf Hitler (B) Bismark
Q) William Il (D) Fedrick William IV
Fe | e %1 awe fEe a2
(A) TEEE frmer (B A
(© fafemm m 0y Fefrw faferm v

Richter Scale is used for measuring
(A) Density of liquid
ntensity of earthquake
{C) Humidity of air
(D) Velocity of wind
fraee T &1 Wi faee ar & fon femamn 27
(A) TE T
(B) 9 i A
(O =g 1 A
(O) = A

Where do Bhagirathi and Alakananda join Ganga ?

{A) Karan prayag ‘__,.(:B}“‘[%\-pra}'ag

(O) Rudraprayag (D) Gangotri
vt sife seren im 4 FE 9 e €2
(A} =0l T (B) %4 wam

() & wam ]

L]

The abbreviation LHC stands for which machine ?
(A) Large Hadron Collider
(B) LongHeavy Collider
(C) Large HighCollider
i HeatCﬂIIide
LHC fs i & fom v diya w1 82
(A) = Bl Hiferst
(By = & FRAE
() = 7 Fiferst
(D) T Ee Hlferst
The disease which has been icated ;
(A) Measles J Small pox
{C) Chicken pox (D) Mumps
fow T g W e L m o
(A) EHD (B) H=F
Q) B HE (D) HSEl

Downloaded from SSChelp.in



Downloaded from

171. The slogan ‘Garibi Hatao” was included in the
B (A) First plan {B) Fifth plan

ourth plan (0} Secand plan
it w2l A - e i e e
o7 .
(A) e A (B) WA =
Qe A (D) Fe A

172. Al vital atmospheric processes leading to various
R’ climatic and weather conditions take place in the :
Mpmph&m (B) lonosphere
{0 Exgsphere D) Stratosphere
fafay werarg wd wiew amel w) aeed Jwel w9
eyl AT wiEa we ufed w2
(A) wrvHEE (B) HaTHEA
(O afedza () TEATHER

173. Wheo was the first Vijayanagar ruler to wrest the

important fort of Goa from the Bahamanis ?
arihara [ (B) HariharaII
() Bukkal @) RevaRayall

T & W R ) TEAr | B T 14w

® T
o) \mIE

Haw many organs are there in UN.O.?

o e Tk e wn
(&) 03 (B) D4 03

@)
|V
) 06

175.

5

Which of the fallowing is commonly used in
preparing custard powder 7

(A) wheat (B) maize

[C) rice (D) raagi

F2E TES fOn w1 § frefatms F @ e
AT WA fEm e E 2

(A)

Q) =&

I_'B]- =
(@)
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176,

A

helps in better cleaning of clothes because:

,ﬁ"‘ﬁt reduces the surface tension of solution

(B} Itgivessirength to solution

{C) Itabsorbs the dirt

(L Soap acts like catalyst

AEA S| 1 At WEE H 1 qeas e g

(A} TE 9 F THE §99 FFA T

(B) T% 9/ ¥ Nfew 2w #

() T e A =

(D) T AT T TE S

177. What is the name of Research Station established
by Indian Govt. for conducting research at
Antarctic 7

in Gangotri
(B} Yamunotri
{0 Uttari Gangotri
() MNoneof the above :
et 1 ST O ¥ e ¥R SR 51
A 5w AH 7
(A) wfeeft i

(B) LA

() Fe T

(D) 3wd=a 4 = Tff

Life originated by chemosynthesis was proved in
the laboratory by :

(A) Pasteur (B) Miller _

f(ﬁ;’-ﬁﬁmiﬁ (O} Sanger

ﬂmaﬁmmﬁmﬁmﬁmﬁﬁ

178.

mthﬁ:mwm?
(A) m_ﬂ (B) e
©Q = (D) FH

179.  Which of the following is one of the characteristics
of civil services in India ?
eutrality and Impartiality
(B) Partisam
(] Tempﬂmryl"ﬂ]lhtal Exec‘l.ltwemxus
(D) Allthe above 2R
frefafaa § @ @ wwm # fafas s #1 o
fafmem 27
(A) FZram v Frogem
(B) TR
(©) - e Tfers FRiw FdY
D) 9= At

@
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180.  J. B. Say’s Law of Market was not accepted by : 186. The Name of the Laccadive, Minicoy and Amindivi
B _iAr-Marshall (B) Malthus D I:;Far?ds was changed, to Lakshadweep by an act of
(O DavidRicardo (D) AdamSmith [T -
i f ? s, i, s MY FEET
1. A w1 A Fem R e o @ e e = 4 e s s
() vt B () 1970 (®) 1971 (© 1972 _py1973
iR ) 3ol 187. Normal blood pressure reading of an adult
181, World Human Rights Day is abserved on - ﬂ human:
o (A) April8 (B) September5 T T e o At P e 2
—ACPember 10 (D) December? = T20/80mmHg  (B) 130/90 mm Hg
fava wrrenfun feam %4 wam s 2 (© 160/95mmHg (D) 80/120 mm Hg
(4) 83l @®) 5 fadan 188. The capital of Rawanda is ;
© 10fewm ) 7 B 6 Kl
(C) Copenhagen (D) Libreville
182. January 15 is celebrated as - TETET 1 U w2
Ay Day (B) Republic Day (A) A ® fEm
(O MakarSankranti (D) Labour Day i ferifas
159 it fEn = e e g 2 2 i &
(A) & ﬁﬁ_ﬂ_ ®) TS fram 1849, ::TDVI_S ;h;iil:::ll*ﬂf the boak M;fﬁh T ?
(Q W Hawifa (D) m feam A (© VikramSeth (D) CyrusMistry
183. Who was Akbar’s guardian ? A e g & e e g
C @ AwiFaal (B) Tansen (A) AT () g EE
€ BairamKhan (D) AmirKhusru () faEm ¥z (D) mﬁnﬁh
S SO B W ? 190. Damping off of seedlings is caused by :
(A) ST HA (B) AR = 'B (A) Albugo candida
(© #mEm (D) R Ea (B)  Phytophthora infestans
Q) Pythium debaryanum
184.  Which is the best planned city in India ? D) Peronospola parasitica
n __lAy-CRandigarh (B) Coimbatore s T 3 T T e T B 7
{© NewDelhi * (D) Salem ) TE e TE A e
WA H HAd G T M FA-E :E: .
e i © WAt feifarm
Q T feeh () den (D) e Rt
185. Hari Prasad Chaurasia is a renowned plaver of : 191. USBis_ t}:penfsﬁ:-rage device.
c’ /{ﬁ.}"]ﬁ:.la (B) Sarod 3 (A) Primary — B Secondary
(O Flute (D) Shehnai (Q) Tertiary (D) Auxillary
mmiﬁmm#m%ﬁmm%? Lﬁﬁﬁw%ﬂﬁ-mmt?
(A) #=em (B) Wi (A) wmafis B) foda=
(© =gl (O) T © T (D) e
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D

193.

196.

197.
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Atoms having the same number of protons bul
different number of neutrons are called :

(A Cations {B) Higgs-boson

() Anions Mﬁpﬁﬁ

WRE F1 TaE gen iy =l w5 e e
A AT W A wed §

(A) WA @ fera =

(©) =ME (D) HEEE

Excretion in Hemichordates takes place by :

{A) Pronephron (B) Mesoncphron
{C) Metanephron (D) Glomerulus
feptatan H seal e gm Em 7
(A) FETHE ®) AT

(Q T (D) Ffe =

When was the railway system established in
India ?

T H 1O oA e T fem o ?

(A) 1753 1853 (O 1953 (D) 1969

The National Emblem of Italy is:

{A) White Eagle (B) WhiteLily
(O Lily () Eagle
et &1 Ty fam Em R 2

(A) T TEE ﬁ"ﬁﬂﬁ‘ﬁ ferh
(© fei (D) TEF

The 1% Battle of Panipat was fought in the year :
it %1 vee e e g At ?

(A) 15‘1}"/;37"'{%2—5 (© 1556 (D) 1761
——

To become a Judge of the High Court one mustbe a
practicing advocate of the High Court for at least :

(A) 5years (B) 10 years

(Q 15 years (D) 20 years

TR AT A A F e A
i %1 T e v % T e
FWa F = ?

(A) 5T 10 =
() 157 @) 207
AC-2015/Page23

B

200, Airis said to be saturated when :

198. The use of heat treatment of ore that includes

B

smelting and roasting is termed as:

4 (A) Hydrometallurgy @-TVrometallurgy

(O Cryometallurgy ) Electrometallurgy

T o A 3TEEE ) Farm] e A TF
miEs T Fe 87
(A) TTEE e (B) T

(@ FeldEEE (D) FEEEIEE

199. Which of these travels in glass with minimum

wvelocity ?
vielet light {B) greenlight
{©) yellow light ({C) redlight

Fererfirfiaa o @ w1 =AW AN R w9 § wEEd w1
&2 ' :
(A) Sl T
(€ TawEm

(B) wa TEE
(D) = TR

(A} its pressure is minimum
(B) its thickness is maximum
{O it blows over the barren land
(D) itcontains maximum content of water vapour

AP F D FF A Al 2

(A) ¥ T T7ae §

(B 4w e afian 8

(0 @ 78 J ot Fedl

(D) 1@ 3ai el AT 0 S SAfeEe w

-
T
o
4
[+
o
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Always check SSChelp.in
for anything related to
ST

Downloaded from SSChelp.in



